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For each problem, find the values of ¢ that satisfy the Mean Valu"e.Theorem'
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For each problem, determine if the Mean Value Theorem can be apphed If lt can, find all values of ¢ that
satisfy the theorem. If it cannot, explain why not. Qemember for MVT the funckion mustbe @
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Find two real numbers whose sum is 30 and whose product is maximized.
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2) Find two numbers whose difference is 50 and whose product is minimized.
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3) An Mx with a rectangular base is to be constructed from a 12" by 18" piece of cardboard by cutting out
squares from each corner and bending up the sides. Eind the dimensions of the box that will have the largest

volume.
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of its length and girth is not more than 120".

4) A rectangular package can be sent through the mail only if the sum -
t if the base of the box is square.

jind the dimensions of the box of maximum volume that can be sen
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5) Agardener wants to construct 4 garden areas by first building a fence around a rectangular region, then subdividing

the region into 4 smaller rectangles by placing 3 fences parallel to one side of the rectangle. _\/\thj_djmen.sio.nLOf
the region minimizes the amount of fencing if the total area of the region is 300 square feet?
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6) A farmer has 150 feet of fencing and wants to construct 3 pig pens by first building a fence around a rectangular
region, then subdividing the region into 3 smaller rectangles by placing 2 fences parallel to one side of the rectangle.

What dimensions of the region maximizes the total area?
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